BEER2—2 FERONREE B | 1TIX 2TIX 3TIX 4TIX 5 TIX 6 TIX TLIX [FEEES] Al fi=
[ERHE - o 75 P 20,694.8]  9,478.0] 17,831.3] 7,216.0] 22,873.6]  2,722.2] 1,032.0 81,847.9
2 nf 8,917.2 170.0] 14,053.2 408.0 23,148.4 726.8 576.6 48,000.2
A Bl 1 S R f 72.0 235.0 922.0 156.0]  3,974.0 0.0 5,359.0
FhE nf 7,364.0]  3,016.0]  1,695.5] 1,542.0 582.0 360.0 94.0 14,653.5
B nf 60,500.0] 32,024.0 19,411.0 6,500.0/  3,965.0 122,400.0
K% nf 513.0 513.0
MK it nt 271.0 271.0
EELRA O ol | 98,332.0] 44,923.0] 34,502.0] 28,733.0] 50,578.0] 10,309.0] 5,667.6 273,044.6
@ Dtk Hfr [ 1L 21X 3LIX 4K 5 LIX 6 LIX TLIX | EEEs AT i fii =
[EBA [EG0 1.0 2.0 1.0 1.0 5.0
MK L &Pt 1.0 1.0
MK (K %) & 1.0 1.0
3 T 2.0 1.0 3.0{A=30.1nf
Eif T 5Fk X 751 i 1.0 1.0[A=87.0nf
EYEPEESES IR BE | HQE ] 1T 2L 3LIX 4L 5 LIX 6LIX TLIX [EEEHI] Oar [
ST
R 3A 14-8E/4 | nf 8,917.2 170.0| 14,053.2 408.0| 23,148.4 726.8 576.6 48,000.2[26,600m2 (14[11/47) 21,400m2 (8 /4F)
e 1al/4F | ot 8,917.2 170.0] 14,053.2 408.0| 23,148.4 726.8 576.6 48,000.2
ASIBR RIEVEES i 8,917.2 170.0] 14,053.2 408.0| 23,148.4 726.8 576.6 48,000.2| R HEIFED20%
A
% £ 15em Al 1al/4F | A 35.0 9.0 1.0 45.0
% E 15~30cm Al IEEES 54.0 26.0 19.0 13.0 4.0 27.0 15.0 158.0
% E 30~60cm A IEESES 59.0 55.0 69.0 43.0 37.0 263.0
% E 60~90cm A IEEES 93.0 88.0 62.0 72.0 19.0 334.0
¥ B 90~ 120cm Al IEEES 75.0 48.0 42.0 24.0 11.0 200.0
% E 120~ 150cm At JIEEES 40.0 35.0 9.0 3.0 0.0 87.0
i 5 E 150cmEL EESRES 47.0 2.0 9.0 1.0 6.0 65.0 o rrpox
S E 15cm A IEEES 5.0 6.0 10.0 12.0 33,0 EAAFOL0%
ARk 8 15~30cm Al JIEEES 72.0 20.0 33.0 65.0 7.0 52.0 10.0 259.0
S E 30~60cm A IEEES 76.0 64.0 26.0 70.0 48.0 284.0
E E 60~90cm A IEEES 71.0 38.0 48.0 12.0 15.0 184.0
S E 90~ 120cm Al JIEEES 51.0 23.0 56.0 14.0 26.0 170.0
AR D G 120~ 150cm AT al/4E | A 39.0 11.0 23.0 5.0 15.0 93.0
AR AR O 150cmbh NEZGE S 68.0 25.0 31.0 6.0 23.0 153.0
AT E I - 4 3)  15~30cmAi PIEVEE S 32.0 8.0 40.0
(L H- & 4)) 30~60cm A PEEARES 2.0 37.0 23.0 62.0
(- 4481)  60~90cm A PIEVEE IS 20.0 11.0 31.0
(L1 - & 401) 90~ 120cm Al PIEVEE S 1.0 5.0 6.0
(] - &4 120~ 150cm Al PIEVEE S 2.0 5.0 7.0
I al/4F | A 2,328.0[ &R ASLD50%
ik (A7) al/4F | AR 455.0[H 27455 K D20% (4 [Fl-46+84)
ik (AR B) e ES 1,873.0| ARAELD30%
A ( H=1.5m Al e 3,625.4|  2,901.0| 1,342.7] 1,464.0 126.0 360.0 94.0 9,913.1
iA( H=1.5~2.5mAdw [ 1E/4E| nof 171.8 107.7 333.5 78.0 103.0 794.0
iA( H=2.5mLA |- e 25.2 4.1 72.6 101.9
A ( H=1.5m Al e 3,625.4|  2,901.0| 1,342.7]  1,464.0 126.0 360.0 94.0 9,913.1
iA( H=1.5~2.5mAdw [ 1E/4E| nof 171.8 107.7 333.5 78.0 103.0 794.0
iA( H=2.5mLL |- e 25.2 4.1 72.6 101.9
A H=0.45m A% 2ml/4 | #R 3.0 1.0 4.0
iA H=0.45m~0.75m A 2000 /4F | #k 3.0 19.0 5.0 1.0 28.0
iA H=0.75m~ 1.2m A%l | 2060 /45 | #k 86.0 14.0 4.0 6.0 110.0
iA H=1.2mEL |- PIEVEE IS 42.0 16.0 70.0 87.0 1.0 5.0 221.0
iA H=0.75m A% 1E/4F | m 578.4 16.3 21.5 616.2
iA H=0.75~1.5mAi | 1[E1/4E | m 280.5 0.0 280.5
DA H=1.5mEL |- 1E/4F | m 60.3 14.3 230.0 192.7 23.0 520.3
EA S A JEZ I 7,364.0]  3,016.0] 1,695.5| 1,542.0 582.0 360.0 94.0 14,653.5| 2R A D50%
JEAHH 5t BhER 1al/4F | ot 7,364.0]  3,016.0] 1,695.5] 1,542.0 582.0 360.0 94.0 14,653.5| K HEfED 10%
AL B
FAERR AT 40 /4| of 27.9 2.2 30.1
HpAE i
AR 4 /4FE | ot 129.0 187.0 316.0
e 1al/4F | nd 129.0 187.0 316.0
B
e o[l/4E | nof 87.0 87.0
R RIEVEE 87.0 87.0
sy e/ | B 375.0 375.0
| e 7
[ i i ZAH 2/ | o 8,917.2 170.0| 14,053.2 408.0[ 23,148.4 726.8 576.6 48,000.2| AR HEIFED30%
[ 94 MDA 20E0/38 | nof 20,694.8|  9,478.0| 17,831.3| 7,216.0| 22,873.6| 2,722.2|  1,032.0 81,847.9| 2K FD30%
B PIEVEE I 20,694.8]  9,478.0| 17,831.3| 7,216.0] 22,873.6] 2,722.2|  1,032.0 81,847.9| AR HEIFED20%
AR SEl/4E| o 20,694.8|  9,478.0| 17,831.3| 7,216.0| 22,873.6] 2,722.2]  1,032.0 81,847.9| K FfD 10%
PTG ST ) EHHY 1E/4F | m 400.0 400.0
[T Sl ) ElEL 1E/4F | m 200.0 250.0 200.0 650.0
SRR BRI it 208l /4 | &Pt 120.0 10.0 44.0 5.0 179.0
i A 1al/E | (=] 1.0 1.0
KR (C2AZLOBD) PIEVEE I 1.0 1.0
VIR AN ) e 1.0 1.0
[E R BT ks iml/ A | (= 1.0 2.0 1.0 1.0 5.0
@Eﬁﬁé@k i 5 i 208/ | 5] 1.0 2.0 1.0 1.0 5.0{Bl3A . i E AR
XA 5]
Fo 7R EN 1.0




